M Teo—2 W& 4 ==
REF B X 7K x 4
485H 4H6H 487H 4A88H (105914) 4898
1
2
3
4
5
6
4812H 4813H 48148 4815H 4816H
1
2 BREZRE (FE, 4F, B#R)
6%
3
4
5
6
4819H 4820H 4821H 4822H 4823H
1
2 BREZRE (FE, 4F, B#R)
6%
3
4
5
6
4H26H 4827H 4828H 4829H 48308 (B0 FmA)
1
2 BRERE (FX, 4F, BEIR)
67
3
4
5
6
5A83H 5848 5A5H 5H6H 5A7H
1
2
3
4
5
6
5H10H 5A11H 5H12H 5813H 5H14H
1
9 BRERE (FE, 4F, #&R)
P 4
3
4
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M Teo—2 W& 4 ==

Febs A % 7K PN &
5
6

5H17H 5818H 5H19H 5H820H 5821H
1
2 BRERE (FE, 4F, #R)

Fr4v

3
4
5
6

5H824H 5825H 5826H 5827H 5828H
1
2 BRZRE (FX, 45, #FRN)

6%

3
4
5
6

5H31H 681H 6H2H 6838 684H
1
2 BRERE (FX, 4F, 3EIR)

6%

3
4
5
6
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= SER 4 &=
Febs A % 7K PN &
6A7H 678H 6A108 (2QB%A) 6A11H
1 EpetED (I H 44, 3#4R)
21%
2
3 EREED (A, 44 3EIR)
21%
4
5
6
6814H 6815H 6A16H 68175 6H18H
1 Epei D (M E, 44, B1R)
21%
2
3 ERYIED (M, 44 FR)
21%
4
5
6
6821H 68228 6723H 68248 6A25H
1 Epei D (M E, 44, #4R)
21%
2
3 ERWIED (WM, 44 FR)
21%
4
5
6
6H28H 6A29H 6H30H TH1H TH2H
1 ERFYIED (MM, 44, 2IR)
21%
2
3 ERWIED (M, 44 FR)
21%
4
5
6
TH5H TH6H 7TATH 7TH8H TH9H
. ERYEED (1, 46 53IR)
1%
2
3 EEYIED (N, 44, EIR)
21E
4
5
6
TH12H THA13H TH14H TH15H TH16H
. ERYEED (1, 46 3EIR)
21%
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= SER 4 &=
Febs A % 7K PN &
2
3 EREYED (1A H, 44 3&R)
21%
4
5
6
TA19H 7TH208 TH21H 7R22H 7TR23H
1
2
3
4
5
6
7826R 78278 7H28H 78298 7H30H
. X# kA= (A, 3F) ERYEED (1A, 44 #IR)
3% 21%
2 Ah bA=7 Z(BF, 35F)
3%
3 X# ka=s (B, 3F) EREYED (1A, 44 JER)
3E 21%
4 AH bB=7 ZX(BF, 35F)
3%
5 XH boz=s x(EH, 3F)
3F
6 XHkazyZ(Ah, 3F)
3%
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